Lessons from Essay 2
Grammar
First try to find the mistakes below, then try to correct them.
1. Moreover, it could be argued that during the restoration process pedestrians may find it a little uncomfortable to walk through such areas.
2. [2 MISTAKES]  This leads to another important point regarding why Internet should be free: the need for the implementation ways in which people with disabilities can communicate with the world (Fred 2012, Mary 2014)  --not to mention the issue of professional growth.
3. There are a number of concerns regarding the proposed changes, especially considering the limited resources Brazil currently possesses in terms of its economy, and so on.
4. The portrayal of samba in the international media is not the same as the way in which it is portrayed locally.
5. The use of tax money to pay for initiatives such as building World Cup stadiums (stadia) has not been without controversy.
6. Those funds were originally intended to be applied towards the development of urban parks, but instead went to road repairs.
7. The fact that the telephone lines are so outdated make simple tasks such as checking one's email. difficult
8. [MORE THAN ONE MODIFICATION REQUIRED] Such sanitation issues are not a problem to be ignored: in fact, it should be seen as a problem that concerns society as a whole / all of society .
9. Most devices of this nature require wifi for their online resources to fully be taken advantage of.
10. The time saved can be used for / spent on more productive activities, or at least that is the general idea.
11. [MORE THAN ONE MODIFICATION NECESSARY] Much research in this area shows that there has been a significant increase in online access of such journal content in recent years. / Many studies in this area show…
Vocabulary and Style

Identify were the "problem" is, then try to improve the sentence.

1. Indeed there are several ways of making feijoada.  In addition, feijoada is not the only famous Brazilian dish. BETTER:  However, feijoada…
2. India has been considered one of the growing powers in terms of its influence in the world of technology.
3. The increase in carbon emissions is actually considered indicative a sign / an indication of industrial development.
4. There can be little doubt that free access to basic services such as health and schooling should be considered a right, and not a privilege.
5. It is clear that public spaces such as parks and city streets require policing of some sort.
6. There is still limited sewage and water services in most / the vast majority the major part of the city.
7. A number of advantages of the weaker currency have also been noted, such as  the increased ability to export, and the draw for foreign visitors.
8. Those who seek employment in the computer industry, however, may encounter a number of problems that they may not have anticipated.
9. There can be little debate that such upgrades could positively affect  the quality of life in the country as a whole.
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